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And soon the fourth, fifth, sixth telephones were
added. and a problem was identifjed. How should all of these
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3) (Cont'd)

- the probability of starting in state j and
moving to state (j-1) is dvg P(j)

- the probability of starting in state j and

remaining in state j 1is

(1'7\1"3. Ul)P(J) .

4) The expressions above may be restructured to derive the
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by

P(K) = A;P(K-1) + (K+1)y;P(K+1)

+ (1-r; Ky )P(K)

5) The above system yields M equations (nontrivial) in 'M + 1
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7) The solution to the equations yields

P(M) = (A = 2)
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of this problem?
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